Potencias de 10 (C)

43 = 1000

1010

17 =10

1610

13 +1000

10100

13 +1000

99 =100

14 +1000

63 = 1000

Calcule los siguientes cocientes.

6510

571000

671000

19=10

50100

9110

5410

42 +1000

9110

8610
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Potencias de 10 (C) Respuestas

43 = 1000
0,043
1010

1
1710
1,7
1610
1,6

13+ 1000
0,013

10100
0,1

13 +1000
0,013

99 =100

0,99

14 - 1000
0,014

63+~ 1000
0,063

Calcule los siguientes cocientes.

65+ 10
6,5
57+ 1000
0,057
67+ 1000
0,067
19+10
1,9
50100
0,5
91 +10
9,1
5410
5,4
42 +1000
0,042
91 +10
9,1
8610
8,6
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